= o
A & 0l & AF 2 E A A
SN WBFsAD
Ha: MYNSAVAND(SYHL2M/5Y - 52)
ool MsH HAE 2E (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
T =0 126,829,233 130,048,401 A 3,219,168
= 86,787,118
s 1,248,000
J| 1,111,954
< 37,682,161
AUASHAMAN D (sBHLSA/ = - &) 105,500,584 104,729,812 770,772
= 83,987,118
s 211,000
J| 1,111,954
< 20,190,512
AsdE HAA 2= 8,099,600 7,830,700 268,900
sy 2483 XA 240,000 320,000 280,000
308 XtXIEHHSOIA 240,000 300,000 260,000
01 AXHHILEES 240,000 300,000 260,000
Ofs XL AEHM K& 240,000
ZEE ZTICONC Y 2 AZZI XA 51,000 21,000 30,000
308 MtXIEHMSOIH 51,000 21,000 30,000
01 HXNHHBHEES 51,000 21,000 30,000
OZ3A AZTXHI X 51,000
=sHIFIUFNES 1,260,000 1,260,000 0
308 X EHSOIA 1,260,000 1,260,000 0
01 HIXNHHNBMNEES 1,260,000 1,260,000 0
O==sYIIAFINES 1,260,000
gsPIIAHHANZZ 3,600,000 2,400,000 1,200,000
308 XXM SOIA 3,600,000 2,400,000 1,200,000
01 AXHHBIYEES 3,600,000 2,400,000 1,200,000
OE=sYIIAIANES 3,600,000
Z2AE=E F3F3 288,000 282,000 6,000
308 XtXIEHHSOIA 24,000 24,000 0
01 AXHHILEES 24,000 24,000 0
OF=S+=+=833t 24,000
403 UHtXSHHSA=0l& 264,000 258,000 6,000
01 HXHMA=LE X 264,000 258,000 6,000
(OFS e RN e Rl e 78,000
ONZ MHHH EHX = 81,000
om JE¢y 43 X 105,000
ZRAA MX SEAE R 150,000 150,000 0
403 MtXISHH S =0l & 150,000 150,000 0
01 AXSHMA2E X 150,000 150,000 0
oL MXEZFALE XA 150,000




SN WBFsAD
Ha: MYNSAVAND(SYHL2M/5Y - 52)
Sl ASE MAN RS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AX HE L OLBAE Sist 395,000 300,000 95,000
403 UHXISHHSA=0l& 395,000 300,000 95,000
01 XM= E L 395,000 300,000 95,000
O&Xl MNE & ItSAA S 335,000
oZEH IISAZT 2d3E A& 60,000
LR X BEMLA TR 59,900 52,500 7,400
308 XtXIEHH SOl A 59,900 52,500 7,400
01 X HHBLEES 59,900 52,500 7,400
OZ3ZX =LA BSL XA 59,900
MNZX HEZ AEEH XA 48,000 48,000 0
403 A X EHHSH=0IA 48,000 48,000 0
01 X ESHHMA=2LE L 48,000 48,000 0
OMNZX HEEZALAEHH XA 48,000
NZX THEZ Ot ESS OouE AIEX& 54,000 75,000 A 21,000
403 X SHHS =0l & 54,000 75,000 A21,000
01 HAXSHMA=2EE 54,000 75,000 A 21,000
OMZX MSE OFMsSS HoiK AIEXH 54,000
228 FOX HEALE FHHl X 88,200 52,200 36,000
403 MtXISHHE X201 E 88,200 52,200 36,000
01 XM A=2EE 88,200 52,200 36,000
O=S3& =&KX MEAE EH X&E 88,200
JIE AL UHl 2==AlE SRAESALY 200,000 200,000 0
403 A X EHHS =0l A 200,000 200,000 0
01 XXM 22 = 200,000 200,000 0
OJtE AEHHl 2==Ald |SXEFAY 200,000
2 I8 SEUH(SY)AY 1,625,000 2,270,000 A 645,000
403 UHXSHHSA=0l& 1,625,000 2,270,000 A 645,000
01 XM A2E X 1,625,000 2,270,000 A 645,000
O JISUHl SEUHH(SY) AL 1,625,000
NS THEE 2=Al4 - ZHl X2 40,500 0 40,500
403 MtXSHHS =0l & 40,500 0 40,500
01 XM A=2E X 40,500 0 40,500
OMZ X HEE 2==AlE - ZHl K& 40,500
dEgd3sg 54 25,358,957 23,625,322 1,733,635
= 20,238,721
s 211,000
J| 622,000
< 4,287,236




FAN: HEIsS

HE: AZNSIMARD(SYHYSM/5Y - 5&)

ool HEASY 54 EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SIEHZE XNE(22) 16,576,000 16,577,120 A 1,120

= 14,800,600
< 1,775,400
308 AHAIEHHSOIA 16,576,000 16,577,120 A 1,120
= 14,800,600
< 1,775,400
01 AXSHBLEELS 16,576,000 16,577,120 A 1,120
I 8Hls 22 16,576,000
= 14,800,600
< 1,775,400
ELMEH XA (=1) 4,696,085 4,561,110 134,975
= 4,032,774
< 663,311
308 XXM SO A 4,696,085 4,561,110 134,975
= 4,032,774
< 663,311
01 IXNHHBANEES 4,696,085 4,561,110 134,975
OE2IHEH XA 4,696,085
= 4,032,774
< 663,311
HEd=sgy NF2AE(=12) 316,450 144,000 172,450
s 211,000
< 105,450
403 A X EHHS =0l A 316,450 144,000 172,450
s 211,000
= 105,450
01 X EHHMA=LE L 316,450 144,000 172,450
ozazdsy N==x4d 316,450
s 211,000
< 105,450
HetAsHdA2(=21) 1,201,180 1,161,000 40,180
= 1,201,180
308 Xt & S0l & 1,201,180 1,161,000 40,180
= 1,201,180
01 HIXNHHNBMNEELS 1,201,180 1,161,000 40,180
OzEZ=g HZI=AM 1,201,180
= 1,201,180
e sitE RSE4ds5 196,200 179,200 17,000
202 odl 9,000 10,000 21,000
01 2Uhottl 9,000 10,000 A1,000
0HBAEY SHYS = 9,000
308 MXIEHSOIH 72,000 54,000 18,000
01 X HHILEXS 72,000 54,000 18,000
oz eFelssitE ZETHAA 72,000




SN WBFsAD
Ha: MYNSAVAND(SYHL2M/5Y - 52)
ool AEASY S4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 115,200 115,200 0
01 X SHMA2E X 115,200 115,200 0
OzZEIsE FSAE - ZHIXR 115,200
TEd=sgy AFI|E EF 520,000 116,400 403,600
403 XSS A0l & 520,000 116,400 403,600
01 XM A=2EE 520,000 116,400 403,600
OzEZd=se HsadHI =4 61,200
OxEdseE IHB3AE XA 458,800
detd sIAM 2= 410,000 290,250 119,750
308 A EHHSOIA 410,000 290,250 119,750
01 HIXNHHNBMNELS 410,000 290,250 119,750
OXEd s 2= 410,000
detdsgy =2 188,400 181,200 7,200
308 XXM SOl A 188,400 151,200 37,200
01 IXNHHBNEES 188,400 151,200 37,200
OHBASME AZSETY| 176,400
Oz MY HEI= BENMS 12,000
SIsSUMM XN (=21) 296,042 324,510 A 28,468
= 204,167
< 91,875
308 X EHSOIA 296,042 324,510 A 28,468
= 204,167
< 91,875
01 HIXNHHNBNEES 296,042 324,510 A 28,468
I =sSNUM X3 296,042
= 204,167
= 91,875
TS BEHMAMAL SEUHEH(21) 158,600 90,532 68,068
J| 122,000
< 36,600
403 MtXISHHE X201 & 158,600 90,532 68,068
J| 122,000
< 36,600
01 XM A=2EE 158,600 90,532 68,068
OZSHZEIBUMAELE S 168,600
J| 122,000
< 36,600
Zdoce A MAZTHSH(ZD) 800,000 0 800,000
J| 500,000
< 300,000
307 21201 A 800,000 0 800,000
J| 500,000
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FAN: HEIsS
HE: AZNSIMARD(SYHYSM/5Y - 5&)
el mAe AW s CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 = LH 4 bl 21,600 21,600 0
ox=zel =2 21,600
= 21,600
g2 (XXM KA(=1) 996,886 48,000 948,886
= 996,886
308 XXM SOIA 996,886 48,000 948,886
= 996,886
01 IXNHHMBANEES 996,886 48,000 948,886
oxFeL=22ldl (XIXAM) K& 996,886
= 996,886
SEIRE MK A (2D) 3,669,620 6,906,488 13,236,868
= 3,413,600
< 256,020
308 XX EHHSOIA 3,669,620 6,906,488 A 3,236,868
= 3,413,600
= 256,020
01 AXSHBLEELS 3,669,620 6,906,488 A 3,236,868
ONMAZFEM XA 3,669,620
= 3,413,600
< 256,020
BASEEINFNFINES(=2) 34,189,824 34,364,000 A174,176
= 34,189,824
308 XX EHH SOl 34,189,824 34,364,000 A174,176
= 34,189,824
01 HIXNHHNBNEES 34,189,824 34,364,000 A174,176
ORASSEMNFXNEZEXN=3 34,189,824
= 34,189,824
AXNEZ #IGH N (Z2) 328,270 280,400 47,870
J| 328,270
308 XHAI SIS 0 & 328,270 280,400 47,870
J| 328,270
01 AXHHBIYEES 328,270 280,400 47,870
oOxX=E=s #FZH XA 328,270
Jl| 328,270
RPC EXAIE JHE2(=1) 328,900 0 328,900
= 253,000
< 75,900
403 A X EHHSH20IA 328,900 0 328,900
= 253,000
< 75,900
TAXEH =2 X 328,900 0 328,900
ORPC B&AIE HE 328,900
= 253,000
< 75,900

(o))




2N
X ZH -
L= B

el

ne Jx

Rl
YNSAARD(SYHY S /52 - &)
X2 MADIB FH

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

2HE MADIEH =4 13,709,058 13,197,884 511,174
= 11,954,466
J| 161,684
< 1,592,908

FTACHE &&= 3384 M 311,180 304,884 6,296

202 04l 3,600 4,000 A 400

01 = LHA YI 3,600 4,000 A 400
OFTALIE &&= ZdA =4 3,600

308 XX EHHSOIA 307,580 300,884 6,696

01 HIXNHHBNEES 307,580 300,884 6,696
OS82 A HATHE X 55,080
OZTX&EIBHE AHE3 XA 200,000
OLRAIX UHEZ =4 52,500

gXE 342 SHXA(=1) 406,000 0 406,000
= 350,000
< 56,000

403 MHXISHHE X201 & 406,000 0 406,000
= 350,000
< 56,000

01 XM A=2EE 406,000 0 406,000
gXE S3SZEH s8X2 406,000
= 350,000
< 56,000

gsdAE3(=22) 11,531,206 11,928,000 A 396,794
= 11,531,206

308 MtXIEHMSOIH 11,531,206 11,928,000 A 396,794
= 11,531,206

01 AXSHBLELS 11,531,206 11,928,000 A 396,794
OgsgA=H 11,531,206
= 11,531,206

gsgAE2a #AHY XA (=12) 161,684 135,000 26,684
J| 161,684

202 O4dl 9,000 11,000 A 2,000
J| 9,000

01 = LH 4 bl 9,000 11,000 A 2,000
Og=sg ANSAY =& 9,000
J| 9,000

308 XtXIEHH SOl A 152,684 124,000 28,684
J| 152,684

01 AXHHBILEES 152,684 124,000 28,684
Og=g ASAY(HIH) X 152,684
J| 152,684




2N
X ZH -
L= B
el

ST
NYHSEBAND(SYHS LM /5 - 5&)
SX2 MAIIB T

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S Mol =+ 1,203,750 780,000 423,750
308 AHAIEHHSOIA 1,203,750 780,000 423,750
01 HXNHHBHELS 1,203,750 780,000 423,750
O=s2MEd K& 720,000
OsSJIHSEEE XN& 210,000
O=sgeletd=Es XA 210,000
OgZdsA HEHE XA 63,750
2ol OHMEE ZEAL XA (=1) 95,238 0 95,238
= 73,260
< 21,978
403 XIS E X201 & 95,238 0 95,238
= 73,260
< 21,978
01 AXSHMA2E = 95,238 0 95,238
ORofl OtsS= ZEAIL X& 95,238
= 73,260
< 21,978
A H g & ASOHH 17,338,702 16,982, 150 356,552
= 12,899,621
< 4,439,081
TAEdEEZ(=) 11,318,602 11,502,750 A 184,148
= 10,779,621
< 538,981
308 XX A S0l & 11,318,602 11,502,750 A 184,148
= 10,779,621
< 538,981
01 HXNHHBHELS 11,318,602 11,502,750 A 184,148
OxXAH=cNIXFI=H 11,318,602
= 10,779,621
< 538,981
sIHSS 3,171,600 2,658,350 513,250
202 oddl 5,850 6,500 A 650
01 = LH o4 1l 5,850 6,500 A 650
SN HE & ASAHHFT 5,850
308 XXIEHHSOIA 2,010,000 1,794,000 216,000
01 X HHILEES 2,010,000 1,794,000 216,000
s8E HAls 2&d XA 1,830,000
oOLU=sIIAH =cl2FHl K& 180,000
403 MHXISHHE X201 E 1,155,750 857,850 297,900
01 XM A=2EE 1,155,750 857,850 297,900
OsIIHAUAY X 726,000
Oy - o Xt A=Y FHIXE 178,850




SN eSS
HE: AZNSIMARD(SYHYSM/5Y - 5&)
Sl SIINE U ASOHH CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OsJIH 23 243 N 180,000
O=g&8 &8 #d & 18,900
OsJIH 22&0 XX 25,000
OxF&X sJ1H L 27,000
nN¥=sgo s&HHH X 274,500 247,050 27,450
308 XX EHH SOl A 274,500 247,050 27,450
01 AXHHILEES 274,500 247,050 27,450
ongsgel &gl XA 274,500
SIHSSHEX 2RI (=2) 174,000 174,000 0
= 120,000
S 54,000
308 A EHHSOIA 174,000 174,000 0
= 120,000
< 54,000
01 HIXNHHNBMNEES 174,000 174,000 0
SINH S3EX I 174,000
= 120,000
< 54,000
FAUTL2I1HE sI1H XNA(=1) 2,400,000 0 2,400,000
= 2,000,000
= 400,000
403 MtXISHHE X201 & 2,400,000 0 2,400,000
= 2,000,000
< 400,000
01 AXSHMA=2EE 2,400,000 0 2,400,000
OF4tX L&2I1H s sI1H X& 2,400,000
= 2,000,000
< 400,000
SHMADIE T (s8N s - 5E) 21,286,200 25,120,500 A 3,834,300
= 2,800,000
s 1,037,000
< 17,449,200
OHEN E=ZSHA =2E 4,771,200 12,881,500 28,110,300
= 2,800,000
= 1,971,200
Bi==JH& (= 20) 2,500,000 4,000,000 A 1,500,000
= 2,500,000
402 RI2tXt20l M 2,500,000 4,000,000 A 1,500,000
= 2,500,000
02 22t X2 AL E X (01X THE) 2,500,000 4,000,000 A 1,500,000
Obi==IHH 2,500,000
= 2,500,000
St HHl EME(=2) 300,000 300,000 0
= 300,000




SN WBFsAD
A SAMMIIE M (SHHSLM/5Y - 58)
Sl oI EE S4BIMH Y CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 300,000 300,000 0
= 300,000
01 RtXIEHHI AL 300,000 300,000 0
OstL il S 300,000
= 300,000
2AES SUHMAMY 475,000 260,000 215,000
403 MtXISHHE X201 & 475,000 260,000 215,000
01 XM A=2EE 475,000 260,000 215,000
g2H=E IISUHBAY 475,000
THEEOrE AF2EXICH (M ==X ) ol A CH 2K 450,000 426,000 24,000
403 MHXISHEA=01 & 450,000 426,000 24,000
01 XXM 22 = 450,000 426,000 24,000
OL=M=X & E=- 22 450,000
59 AFD| B E B ALY 1,046,200 1,420,500 A 374,300
202 04l 16,200 18,000 A 1,800
01 = LH 4 Hi 16,200 18,000 A 1,800
O=HMADIEE ZHIALY HRF2 16,200
403 TtXI & X S At | & 1,030,000 1,402,500 A 372,500
01 XM A=2E X 1,030,000 1,402,500 A 372,500
O=YMADBHE Y| 1,030,000
S MALDIEE FH| 16,515,000 12,239,000 4,276,000
s 1,037,000
< 15,478,000
2|8 Hl (X&) 10,779,000 0 10,779,000
403 MtXISHE X201 & 10,779,000 0 10,779,000
01 XS M A=2EE 10,779,000 0 10,779,000
OSUHX T ZLIIBtEHIAIY (X&) 822,000
ONHSA2X 2 It ALY (H &) 1,000,000
OUA - 2AXF LIBHEHIAIY (M EH) 430,000
S2XX 7 LIIEH ALY (& &) 599,000
OZXE3X 7 LAYl AIY (& &) 395,000
OB A7 LIIErE AL (X &) 198,000
O&OHXI 7 LIIBHEHIALY (X &) 688,000
OXEX 7 LIIEHHE ALY (X &) 1,356,000
OJIZX 7 LIIBHEBIAIG (X&) 1,212,000
ORI 7 2 2X7 ZIIBHHIAIS(HE 731,000
OJtel &b Xl D BHE AR (X &) 2,101,000
OJIE X7 LIIBtEH ALY (X&) 1,247,000
=& 2N (M) 3,667,000 0 3,667,000




O Of =

4
z
o

A=A
MM Y (=
A B FH

1%
it
[l

(o
SA - "B B (3H) - B A %Ei HD=2

403 XX SHHS K20 & ,667,000 0 3,667,000

01 AIXISHHMA=Z2E X ,667,000 0 3,667,000
OXAXN T HWPEHBEXHCIAMY (HEH 344,000
o2 AT HWPEHAXHCI A (HEH 860,000
OSXXNT WFREBXNEHCIAL (HEH) 516,000
OQHOIKI 7 HPEAXHCIAY (HEH 860,000
OZXEXNT HPEAXECIAY (HEH) ,087,000

2 BSOS (A EH) ,032,000 0 1,032,000

403 XX SHHS K20 & ,032,000 0 1,032,000

01 XIS AZ2E X ,032,000 0 1,032,000
OHSEXNT ARDHIINAAIY (& & 774,000
OJFXN T 2 6K+ A28 IHAA 258,000

ELMNS NS (I HEE S Z&)(=2D ,037,000 271,000 766,000
g ,037,000

403 XX SHHS K20 & ,037,000 271,000 766,000
g ,037,000

1 AXSHHAA2E X ,037,000 271,000 766,000
OJIAHSHEEZ LA ,037,000
g ,037,000

H AAY (2EE=s F)Y(DIEH/DIEH) 42,449 43,589 AN 1,140

24| 42,449 43,589 A 1,140

Nedl23| 42,449 43,589 A 1,140

201 et 28,589 28,589 0

01 AP 22| H| 28,589 28,589 0
OEMS&Y AtR2t2/ 4l 28,589

202 04| 10,260 11,400 A 1,140

01 2Ll 10,260 11,400 AN 1,140
OFMEY =AYl 10,260

203 €2 F=&d| 3,600 3,600 0

04 EANSIELR2F=XH| 3,600 3,600 0
©20¢! 0ol ot 300,000& ~12& 3,600




